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program Magistr;

uses crt;

const dt = 0.1;

      tmod = 3600;

type

    PI1 = ^I1;

    I1 = Object

           t_p : real; {время поступления пакета}

           Procedure NewTime;

         end;

    PK1 = ^K1;

    K1 = Object

           t_s : real; {время сбоя}

           t_p : real; {время передачи}

           t_v : real; {время восстановления}

           busy : boolean; {занятость}

           broken : boolean; {сломан}

           Procedure NewTime(flag : byte);

         end;

    PK2 = ^K2;

    K2 = Object

           t_p : real; {время передачи}

           busy : boolean; {занятость}

           Procedure NewTime;

         end;

    PN1 = ^N1;

    N1 = Object

           pkts : integer; {число пакетов в накопителе}

         end;

var

  I_1 : PI1;

  K_1 : PK1;

  K_2 : PK2;

  N_1 : PN1;

  time : real;

  Np,No1,No2 : longint;

Procedure K1.NewTime;

begin

  case flag of

    0 : t_p:=time+4+random*6;

    1 : t_s:=time+165+random*70;

    2 : t_v:=time+16+random*14;

  end;

end;

Procedure K2.NewTime;

begin

  t_p:=time+4+random*6;

end;

Procedure I1.NewTime;

begin

  t_p:=time+5+random*8;

end;

begin

  clrscr;

  randomize;

  New(I_1);

  New(K_1);

  New(K_2);

  New(N_1);

  I_1^.NewTime;

  K_1^.t_p:=10000;

  K_1^.NewTime(1);

  K_1^.t_v:=10000;

  K_2^.t_p:=10000;

  K_1^.busy:=false;

  K_1^.broken:=false;

  K_2^.busy:=false;

  N_1^.pkts:=0;

  time:=0;

  Np:=0;

  No1:=0;

  No2:=0;

  while (time<tmod) and Not(keypressed) do

    begin

      If time>I_1^.t_p then {пакет поступил}

        begin

          Inc(N_1^.pkts);

          Inc(Np);

          I_1^.NewTime

        end;

      If (time>K_1^.t_s) and Not(K_1^.broken) then {канал попух}

        begin

          K_1^.NewTime(2);

          K_1^.broken:=true

        end;

      If (time>K_1^.t_v) and (K_1^.broken) then {канал восстановился}

        begin

          K_1^.broken:=false;

          K_1^.busy:=false;

          K_1^.NewTime(1);

        end;

      If (time>K_1^.t_p) and Not(K_1^.broken) and K_1^.busy then {пакет передался по каналу 1}

        begin

          Inc(No1);

          Dec(N_1^.pkts);

          K_1^.busy:=false

        end;

      If K_1^.broken and Not(K_2^.busy) then {передача по каналу 1}

        begin

          If N_1^.pkts>0 then

            begin

              K_2^.busy:=true;

              K_2^.NewTime

            end;

        end;

      If (time>K_2^.t_p) and K_2^.busy then {пакет передался по каналу 2}

        begin

          Dec(N_1^.pkts);

          Inc(No2);

          K_2^.busy:=false;

        end;

      If Not(K_1^.busy) and Not(K_1^.broken) then {передача по каналу 1}

        begin

          If N_1^.pkts>0 then

            begin

              K_1^.busy:=true;

              K_1^.NewTime(0);

            end;

        end;

      time:=time+dt;

      gotoxy(1,1);

      writeln('t=',time:5:2,' Np=',Np,' No1=',No1,' No2=',No2,' K1-',K_1^.busy,'|',K_1^.broken,' K2-',K_2^.busy,'    ');

      WriteLn('t_v=',K_1^.t_v:5:2,' t_s=',K_1^.t_s:5:2,' NAK=',N_1^.pkts,'   ');

    end;

  Dispose(N_1);

  Dispose(I_1);

  Dispose(K_1);

  Dispose(K_2)

end.

Результаты работы:

t=3600.00 Np=407 No1=354 No2=52 K1-TRUE|FALSE K2-FALSE NAK=1










